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The figures in the margin indicate full marks

for the questions

1. (a) t°∫t° [É⁄‡[§∫‡A°π «°á˝° l°¸v°π [>o¢⁄ A°π‡ : 1×3=3

Choose the correct answer of the

following :

(i) Î§ÏC°π„⁄‡π ÎA°‡» Î§πt° =A°‡ ¤Â°â WÂ°[∫-ŒÉı≈
Kk°>π >‡≥ [W°[∫⁄‡ / [ö∫‡“¸ / ÎÛ√°Ï\∫‡°˙

Bacteria bear minute hairy

structures on their cell wall. These

are called cilia / pili / flagella.
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(ii) πíl°íÛ°‡“¸[W° (πR°‡ Î≈∫‡“¸)π Œ[e°t° J‡É∏â§∏ “í∫
ÎW°∫Â∫í\ / N√‡“¸A°íÏ\> / Û√°í[π[l°⁄‡>  °‡πW°Ù°˙

Storage food product of
Rhodophyceae is cellulose /
glycogen  / floridean starch.

(iii) ŒA°Ï∫‡ ÎÆÚ°AÂ°Ïπ“¸ öπ\„Ø„ / ≥ıt°\„Ø„ /

öπÏö‡»„°˙

All fungi are always parasitic /
saprophytic / heterotrophic.

(b) t°∫t° [É⁄‡[§∫‡A°π J‡∫„ k°‡“¸ öËo¢ A°π‡ : 1×2=2

Fill in the blanks of the following :

(i) [ó¡l¡üì>[¹Úàπ ≥Âr°A°π _____ "}≈t° öyπfi¯˝°
Îö‡Ø‡ ô‡⁄°˙

Stomata are present in _____ region
of Funaria capsule.

(ii) _____A° Œ‡ã‡πoÏt° “íW¢°Ïi°“¸∫ Î§‡∫‡ “⁄°˙

Horsetail is the common name
of _____.

2. t°∫t° [É⁄‡[§∫‡A°π Îi°‡A°‡ [∫J‡ : 4×4=16

Write notes on the following :

(a) Î§ÏC°[π⁄‡π "U\ ö¯\>>

Vegetative reproduction of bacteria

(b) ∫‡“¸ÏA°>π "=¢Ó>[t°A° P°πÁ°Œ

Economic importance of lichen
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(c) >Nó§„\„ l°¸[ä±Éπ Œ‡ã‡πo W°[πy
General characters of gymnosperms

(d) §¯‡"íÛ°‡“¸i°‡π ö[πÏ§≈„⁄ P°πÁ°Œ
Ecological importance of bryophytes

3. l°¸öôÂv°˚° [W°yŒ“ Î≈∫‡“¸π Œ≥‡U ÎÉ“π Kk°>π [§—zıt° §o¢>‡ A°π‡°˙
3+7=10

Give a detailed account of the range of

thallus structure in algae with suitable

diagram.

"=¤à /Or

Î≈∫‡“¸π "ÏôÔ> ö¯\>>π [§»Ï⁄ [∫J‡°˙ 10

Give an account of the methods of asexual

reproduction in algae.

4. ÎÆÚ°AÂ°ππ "=¢Ó>[t°A° P°πÁ°Œπ [§»Ï⁄ W°≥ÂÓA° [∫J‡ "‡πÁ° [W°[“˚°t°
[W°yŒ“ ¹àÒü\’šàW¡π ÎôÔ> ö¯\>> §o¢>‡ A°π‡°˙ 3+7=10

Write briefly about the economic importance

of fungi and describe sexual reproduction of

Rhizopus with labelled sketches.

"=¤à /Or

W°≥Â Îi°‡A°‡ [∫J‡ : 5+5=10

Write short notes on :

(a) &ìK[¹A¡àWô¡π [K∫Ù
Gills of Agaricus

(b) ÎÆÚ°AÂ°ππ ÎA°‡» Î§π
Cell wall of fungi
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5. t°∫t° [É⁄‡Œ≥Ë“π [§»Ï⁄ §∏‡J∏‡≥Ë∫A° Îi°‡A°‡ [∫J‡
[(a) "‡πÁ° (b)]"=¤à [(c) "‡πÁ° (d)] : 6+6=12

Give explanatory notes on either [(a) and (b)]

or [(c) and (d)] of the following :

(a) šàÒü>π —|„ ≈}AÂ°

Female cone of Pinus

(b) [W¡ºà[\ì>ºàπ "Œ≥ ÎπoÂö¯ŒËt°‡ "‡πÁ° §„\ Kk°>

Heterospory and seed habit of

Selaginella

(c) [ó¡l¡üì>[¹Úàπ ≥Âr°A°

Capsule of Funaria

(d) Î§ÏC°[π"íÛ°‡\

Bacteriophage
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